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QUESTION 1

Youare implementing a VHT-capable AP. Which one of the following channels is available in the 802.11ac amendment
to the 802.11-2012 standard, which was not available in the standard before this amendment?

A. 153
B. 144
C.161
D. 56
E. 48

Correct Answer: B

QUESTION 2

ABC Company has thousands of Wi-Fi users accessing their network ona daily basis. Their WLAN consists of 700
access points, 6 WLAN controllers, and a wireless network management system.

What network functions are performed by the enterprise-class WNMS? (Choose 3)

A. RF pre-deployment planning and post-deployment reporting of access point locations on a floor plan

B. Performance and security monitoring of WLAN controllers with alarms and notifications for administrative staff
C. Radio management, fast roaming, key caching, and othercentralized control plane operations

D. Centralized bridging of guest data traffic and application of firewall and QoS policies to data

E. Management of WLAN controller configuration and provisioning of firmware updates

F. Generating, encrypting, and decrypting 802.11 frames and collecting RF radio data.

Correct Answer:. ABE

QUESTION 3

Two co-located 802.11b/g/n APs can interfere with one another and cause contention and collisions, even whenthe two
APs are operating on non-overlapping channels (e.g. 1 and 6).

What deployment flaw could cause this problem?
A. The access points are mounted too closely to one another.
B. Reflective objects in the area are causing significant multipath.

C. A client station is using active scanning to probe for access points on multiple channels.
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D. The access points are not synchronized to the same NTP server.

Correct Answer: A

QUESTION 4

When performing a site survey for a Multiple Channel Architecture (MCA) system in a multi- tenant building with five
floors, what aspect should you, as the site surveyor, keep in mind?

A. The RF interference caused by passing airplanes supporting on-board Wi-Fi should be a prime consideration.

B. The omni-directional antennas of the access points should beoriented parallel to the floor to maximize the coverage
pattern across as many floors as possible.

C. The channel reuse pattern should be three dimensional with the RF cell extending coverage of each access point to
other floors.

D. The Fresnel Zone is completely blocked between floors so each floor is considered a separate site survey.

Correct Answer: C

QUESTION 5

What statements accurately describe the RF cables and connectors that are used in an 802.11 WLAN system? (Choose
3)

A. RF cables have upper and lower frequency range specifications.

B. 75 and 125 ohms are the typical impedances of 802.11 WLAN connectors.

C. Two RF connectors of the same type (e.g. SMA), manufactured by different companies, may vary in specifications.
D. Every RF connector causes insertion loss.

E. Large diameter RF cables cause greater loss than smalldiameter cables.

Correct Answer: ACD
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